11@221 (Kl 1@221)

T~
( YN Linearized knot diagam

A
o
<

11
9
5\(/\ Solving Sequence

AR

1 T 1 10 11 8 2 5 6 3 4 9

N
v

¥1[]
) 26—>7—>1—>39->10—8—5—>11 >4 —>C3,C7,C10
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Ideals for irreducible component#ﬂ)f Xpar

I = (2.58574 x 10%2u*0 4 1.94775 x 1026 + - - + 4.92580 x 10*?b + 1.64635 x 1072,

—8.09547 x 10214* 4 5.99125 x 102143 + .- 4+ 1.97032 x 10%3a + 1.41113 x 102, u*!' + w0 + - ..

I'={(a, b—1,v>+v—1)

* 2 irreducible components of dim¢ = 0, with total 43 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L
I = (2.59 X 1022440 4 1.95 x 10%2439 4. . . +4.93 X 10264 1.65 X 10?2, —8.10 X
1021440+ 5.99 x 1021439 4. . . +1.97x 10230 +1.41 X 1023, u* +u40+4...—u2+4)

(i) Arc colorings

o= (1)

1

as = \(
1
a7 = 7U2
—U
ar= \u’+u
—ud

a3 = \u +ud+u

0.0410870u%° — 0.0304075u39 + - - - + 2.81027w — 0.716193
a9 = \ —0.524938u40 — 0.395417u3° + - - - — 2.01455u — 0.334229

—0.467248u*° — 0.157588u3” + - - - + 1.16973u — 0.888909
a10 = \ —0.369945u%0 — 0.267670u3° + - - - — 1.30888u — 0.201698

—0.483851u%0 — 0.425824u3 + - -+ + 0.795719u — 1.05042
ag = \ —0.524938u%0 — 0.395417u3° + - - - — 2.01455u — 0.334229

—0.483851u%0 — 0.425824u3° + - -+ + 0.795719u — 1.05042
as = \ 0.0665166u%° 4+ 0.364543u>° + - - - + 0.0791500u + 0.566335

—0.526272u%0 — 0.615949u3° + - - - — 0.847432u — 2.92163

a11 = \ —0.400524440 + 0.0414901u3° + - - - — 0.0904238w — 0.792124

0.405800u*® + 0.723766u3” + - - - — 0.573295u + 3.61744
as = \0.260796u*® + 0.239160u3° + - - - + 0.874019u + 0.565373

0.405800u0 + 0.723766u3 + - - - — 0.573295u + 3.61744
as = \0.260796u*" + 0.239160u>° + - - - + 0.874019u + 0.565373

(ii) Obstruction class = —1

3657064353645414395094 , 40 455341431061793762498151L39 R

(iii) Cusp Shapes = _f4?%8%%??35&8&%“}%’%7%9 T 24629024686271213113517

159536480684658033188744
24629024686271213113517 24629024686271213113517




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq W+t w244
C2 utt +15u* + - 4 8u — 16
€3,C4, %o utt =20t 1
€10
C5,C7,C8 ut —3u . —6u+1
c11 ut + 120 + - — 503u — 73




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cg y41+15y40+--~+8y—16
C2 y™ 1990 + -+ 16416y — 256
C3,C4,C9 y41—48y40+~-~+3y—1
€10
C5,C7,C8 y*t =35yt 62y — 1
11 y* —12y% + ... 423351y — 5329




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.122270 4 1.0013907
a = —0.003929 — 0.8118211
b= 0.562217 + 0.5980841

4.86048 — 2.177091

3.44971 + 3.793061

u = —0.122270 — 1.0013901
a = —0.003929 + 0.8118211
b= 10.562217 — 0.5980841

4.86048 + 2.177091

3.44971 — 3.793061

u = 0.551581 4 0.8598911
a= 0.449439 4 1.0576301
b= 0.181877 — 0.6893831

0.32453 + 2.206651

2.42130 — 3.150651

u = 0.551581 — 0.8598911
0.449439 — 1.0576301
b= 0.181877 + 0.6893831

0.32453 — 2.206651

2.42130 + 3.150651

u= 1.02478
a = —0.908342
b= 1.33636

2.95183

3.34750

u = —0.679117 4 0.6818901
a= 0.700414 — 1.1067501
b= 10.001662 + 0.6506821

2.92066 + 0.498671

9.33255 — 1.403811

u = —0.679117 — 0.6818901
a= 0.700414 4 1.1067501
b= 10.001662 — 0.6506821

2.92066 — 0.498671

9.33255 4 1.403811

u = —0.545090 + 0.7857331
a = —0.69091 + 2.590791
b= —1.209880 — 0.2576191

7.70281 — 1.462531

4.97551 + 4.384141

u = —0.545090 — 0.7857331
a = —0.69091 — 2.590791
b= —1.209880 + 0.2576191

7.70281 + 1.462531

4.97551 — 4.384141

u= 0.815378 + 0.6668811
a= 0.75804 + 1.256391
b = —0.085807 — 0.7240031

11.08220 — 2.094391

10.58118 4 0.499111




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= 0.815378 — 0.6668811
= 0.75804 — 1.256391
= —0.085807 + 0.7240031

11.08220 4 2.094391

10.58118 — 0.499111

= 0.925345 + 0.5342951
= —0.848621 — 0.3046951
1.281480 + 0.2561051

—1.06929 — 3.785171

3.33312 4 5.323131

0.925345 — 0.5342951
—0.848621 + 0.3046951
= 1.281480 — 0.2561051

—1.06929 + 3.785171

3.33312 — 5.323131

= 0.512185 + 0.9581001
= —0.69987 — 1.889851
= —1.298390 + 0.2455371

—1.14433 + 2.713031

3.06796 — 2.165651

= 0.512185 — 0.9581001
= —0.69987 + 1.889851
= —1.298390 — 0.2455371

—1.14433 — 2.713031

3.06796 + 2.165651

= 0471678 4+ 0.7782731
= —0.539722 — 0.4597331
= 1.018830 + 0.3715551

—0.495471 + 1.3235401

2.90171 — 5.222851

= 0.471678 — 0.7782731
= —0.539722 4 0.4597331
= 1.018830 — 0.3715551

—0.495471 — 1.3235401

2.90171 + 5.222851

= —0.579330 + 0.9287101
= —0.625557 4+ 0.5714061
= 1.082590 — 0.4685751

7.20747 — 3.044631

5.27357 + 2.398231

= —0.579330 — 0.9287101
= —0.625557 — 0.5714061
= 1.082590 + 0.468575]

7.20747 + 3.044631

5.27357 — 2.398231

= —0.790308 + 0.3410561
= —0.772495 + 0.1880531
= 1.220600 — 0.1564771

—2.45808 + 0.680701

—0.75996 + 1.228321




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.790308 — 0.3410561
= —0.772495 — 0.1880531
1.220600 + 0.1564771

—2.45808 — 0.680701

—0.75996 — 1.228321

—0.637944 4 0.9671891
0.396872 — 1.1932701
0.182840 + 0.8008001

2.06145 — 5.603921

6.28993 + 7.674261

—0.637944 — 0.9671891
0.396872 + 1.1932701
0.182840 — 0.8008001

2.06145 + 5.603921

6.28993 — 7.674261

—1.003890 + 0.6294461
—0.896695 + 0.3613081
1.320330 — 0.3055271

6.66704 + 5.828691

5.58070 — 3.395401

—1.003890 — 0.6294461
—0.896695 — 0.3613081
1.320330 + 0.3055271

6.66704 — 5.828691

5.58070 + 3.395401

—0.070929 + 1.2099301
—0.919362 + 0.2203971
—1.42404 — 0.033771

—7.93550 — 1.944621

—3.70499 + 3.681841

—0.070929 — 1.2099301
—0.919362 — 0.2203971
—1.42404 4 0.033771

—7.93550 + 1.944621

—3.70499 — 3.681841

—0.028788 4 0.7616111
—0.057057 + 0.4390821
0.642973 — 0.3236591

—1.37623 + 1.105361

—2.43864 — 5.696251

—0.028788 — 0.7616111
—0.057057 — 0.4390821
0.642973 + 0.3236591

—1.37623 — 1.105361

—2.43864 + 5.696251

0.703874 + 1.0215001
0.382110 + 1.2738101
0.170327 — 0.8653411

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

9.99184 + 7.800211

8.36490 — 5.648601




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.703874 — 1.0215001
a= 0.382110 — 1.2738107
0.170327 + 0.8653411

9.99184 — 7.800211

8.36490 + 5.648601

u = —0.601596 + 1.0903501
a = —0.30873 4 1.630891
b= —1.364280 — 0.2916151

—4.56137 — 5.799831

—1.81042 + 3.805781

u = —0.601596 — 1.0903507
a = —0.30873 — 1.630891
b= —1.364280 + 0.2916151

—4.56137 + 5.799831

—1.81042 — 3.805781

u = 0.241330 + 1.2389701
a = —0.698673 — 0.6778671
b=—-1.43772+ 0.115271

—1.67461 + 4.388631

0.33432 — 3.523341

u = 0.241330 — 1.2389701
a = —0.698673 + 0.6778671
b=—-1.43772 —0.115271

—1.67461 — 4.388631

0.33432 4 3.523341

u= 0.689794 + 1.1112801
a = —0.10318 — 1.660941
b= —1.37517 + 0.336191

—2.86444 + 9.707721

1.83000 — 8.478411

u= 0.689794 —1.1112801
a = —0.10318 + 1.660941
b= —1.37517 — 0.336191

—2.86444 — 9.707721

1.83000 + 8.478411

u = —0.758005 + 1.1178501
a= 0.03150 + 1.689201
b=—-1.37919 — 0.370911

5.09814 — 12.242801

4.42370 + 7.045651

u = —0.758005 — 1.1178501
a= 0.03150 — 1.689201
b= —1.37919 + 0.370911

5.09814 + 12.242801

4.42370 — 7.045651

u = —0.573323
a= 2.01606
b= —0.386383

8.19168

12.7990




Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = 0.360746
a= 128515
b= —0.132462

0.783707

12.9610




II.1? ={a, b—1, v  +v—1
1

(i) Arc colorings

- (0)

()

. ()

o ()

w= )

o= (1)
e (—v1+ 1)
o= (i

w (5)
o= (;

e ()
- (0

(ii) Obstruction class =1

(iii) Cusp Shapes =3
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
C1,C2,Ce (%
2 1
C3,C4,C11 u”+u—
“ (u—1)
2
Cc7,C8 (u + 1)
2
Cg, C10 u—u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cq 92
€3, C4, Cy y?—3y+1
€10, C11
2
Cs5,C7,C8 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
v= 0.618034
a= 0 —0.657974 3.00000
b= 1.00000
v = —1.61803
a= 0 7.23771 3.00000
b= 1.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cg w?(u™ 4+ w0 4 —u? 4 4)
C2 w?(u™ + 150" + - - - 4 8u — 16)
C3,Cy (w? +u—1)(u* —2u* + ... —u—1)
3 (-1 (u* = 3u*® 4 - —6u+1)
7, C8 (uw+ 1)) (u* = 3u*® 4 - —6u+1)
€9, €10 (u? —u—1)(u* = 20" 4 —u—1)
1 (u? +u — 1) (u* + 12u* + -+ — 503u — 73)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, Ce y?(y* 4+ 15y + - + 8y — 16)
C2 y? (™ + 19y + - 4+ 16416y — 256)
C3,C4,Co (y2_3y+1)(y41 —48y40—|—-~-+3y—1)
€10
C5, C7,C8 (y — 1*)(y* — 355" 4 - + 62y — 1)
11 (y? — 3y + 1)(y*" — 129%° 4+ - + 23351y — 5329)
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